Grade 1 Subject: Mathematics Olympiad (Week - 1)

. Which of the following is correct match?

a) Twenty six b) Tweleve
@7 Thirty d) @7 Thirteen

b)

. Which tree has oranges more than 3 but less than 5?

A

d)
Flowers.
a) 82 c) 80 d) 79
2tens + 4tens =
a) 66 tens b) 12 tens c) 60 tens d) 6tens

Choose the correct subtraction sentence for the given picture.
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a) 3tens 4 ones— 8 ones c) 3tens 4 ones—9 ones
b) 3tens 2 ones—1tens 0 ones d) 3tens 7 ones -7 ones

. The difference between the number of stones in the 5" column and 3 column is
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10.

11.

12.

13.

a) 6 b) 2 ) 7 d) 8

Which circle is largest?

Distance between two trees is

a) 10 feet b) 7 feet c) 8feet d) 6 feet

You to go to school in .
a) Evening b) Morning c) Day d) Night

Which of the following month comes just before sixth month of a year?
a) October c) December
b) May d) June

What is 9" month of year?
a) August c) September
b) October d) July

If one toy costs % 115, how much Raghav needs to pay for 5 toys?
a) 615 b) 520 c) 515 d) 575

Henry pays % 120 for the
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14.

15.

16.

17.

18.

19.

20.

John has 4 groups of shapes.

W=k e

In which group he will put a ring?
a) P b) R c) Q d S

Name the shape which is shaded below.

A

a) Pentagon b) Triangle c) Square d) Circle

Arrange the given apples from the biggest to the smallest.

o 2 g g
| P L A RXS)

a) P,QR,S
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Which number will complete the pattern?

S

a) 34 b) 35 c) 42 d) 36

If there are 12 pears altogether and 5 are kept outside. Then how many pears are there in

the bag? [;,Y
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a) 6 b) 9 c) 7 d) 8

A pen costs % 15. Riya has only ¥ 12 now. How much more money does she need to buy
the pen?
a) 5 b) 3 c) 4 d 2




